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Quant Section 
 
Direction (1-5): Find the missing term in 
following series: 
 
1. 23, 44, 64, 83, _______, 118 
A. 101 
B. 99 
C. 102 
D. 100 
E. 98 
 
2. 8, 8, 12, 24, 60, _______ 
A. 150 
B. 130 
C. 160 
D. 180 
E. 190 
 
3. 5, 12, 26, 47, _______, 110 
A. 72 
B. 75 
C. 78 
D. 80 
E. 81 
 
4. 18, ______, 15, 24, 8, 33 
A. 16 
B. 17 
C. 20 
D. 19 
E. 12 
 
5. 143, 119, 107, 101, 98, ______ 
A. 95 
B. 96 
C. 98 
D. 92 
E. 94 
 

Direction (6-12): What will come at place of 
question marks? 

6. 96 1000 3000 ?+ + =  

A. 62 
B. 64 
C. 68 
D. 66 
E. 65 
 

7. ? 11 1296 16 + =  

A. 10 
B. 20 
C. 15 
D. 16 
E. 18 
 

8. 
3 2

110 5.5 (?) 12 20
3

 +  =  

A. 8 
B. 4 
C. 2 
D. 1 

E. 2  
 
9. 1780 – 60 ÷ 4 × 80 = ? 
A. 540 
B. 580 
C. 550 
D. 530 
E. 520 
 
10. 0.25 × 696 ÷ 0.3 =  
A. 540 
B. 530 
C. 550 
D. 560 
E. 580 
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English Section 
 

Fill in the blanks 

 

1. The teacher tried to ___________ the students 
from using their phones. 

A. Reflect 

B. Force 

C. Agree to 

D. Forbid 

E. Fought 

 

2. Your vehicle must stay ___________ when 
stopped at red light. 

A. Within 

B. Motion 

C. Stationary 

D. Rightly 

E. Not moving 

 

3. The manager thought his action had 
___________ down the firm. 

A. Ban 

B. Move 

C. Let 

D. Drive 

E. Break 

 

4. As soon as the ship ___________, a large herd 
of tourists will exit the cruise ship. 

A. Embarks 

B. Land 

C. Sail 

D. Drive 

E. Docks 

 

5. The day after my surgery, the doctor called to 
___________ about my health. 

A. See if 

B. Enquire 

C. Probed 

D. Request 

E. Found out 

Spelling Error 

 

6. The school administration was stunned by the 
incident that ocurred at the meet. 

A. Administration 

B. Stunned 

C. Incident 

D. Ocurred 

E. All are correct 

 

7. The department has been graanted autonomy 
to deal with gangsters. 

A. Department 

B. Graanted 

C. Autonomy 

D. Gangsters 

E. All are correct 

 

8. Many people come from different countries to 
visit the city’s unique fountain. 

A. Different 

B. Countries 

C. Unique 

D. Fountain 

E. All are correct 

 

9. The villagers came to city to demonstrate 
against the forcful seizure of their trust land. 

A. Demonstrate 

B. Against 

C. Forcful 

D. Seizure 

E. All are correct 

 

10. This year, most of our customars have opted 
for an annual subscription of the magazine. 

A. Customars 

B. Annual 

C. Subscription 

D. Magazine 

E. All are correct
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Reasoning Section 
 
Direction (1-3): Study the following 

data carefully and answer the questions 

accordingly. 

 

1. Statement: 

D ≤ E < F ≤ G = H ≥ K 

Conclusion: 

I. D < H 

II. E ≥ K 

A. If conclusion I follows 

B. If conclusion II follows 

C. Either conclusion I or conclusion II 

follows 

D. Neither conclusion I nor conclusion II 

follows 

E. Both the conclusions follow 

 

2. Statement: 

L < O < N ≥ G; E ≥ N ≤ R 

Conclusion: 

I. L < R 

II. E ≥ G 

A. If conclusion I follows 

B. If conclusion II follows 

C. Either conclusion I or conclusion II 

follows 

D. Neither conclusion I nor conclusion II 

follows 

E. Both the conclusions follow 

 

3. M ≥ E ≥ A > G = R 

Conclusion: 

I. R = M 

II. M > R 

A. If conclusion I follows 

B. If conclusion II follows 

C. Either conclusion I or conclusion II 

follows 

D. Neither conclusion I nor conclusion II 

follows 

E. Both the conclusions follow 

 

Direction (4-7): Study the following 

data carefully and answer the questions 

accordingly. 

 

4. Statement: 

All lifts are escalators. 

Only a few escalators are trams. 

Only a few trams are buses. 

Conclusion: 

I. No bus is an escalator. 

II. All lifts are trams. 

A. If conclusion I follows 

B. If conclusion II follows 

C. Either conclusion I or conclusion II 

follows 

D. Neither conclusion I nor conclusion II 

follows 

E. Both the conclusions follow 

 

5. Statement: 

Only a few academies are schools. 

Only a few schools are colleges. 

Conclusion: 

I. At least some academies are colleges. 

II. No college is an academy. 

A. If conclusion I follows 

B. If conclusion II follows 

C. Either conclusion I or conclusion II 

follows 

D. Neither conclusion I nor conclusion II 

follows 

E. Both the conclusions follow 

 

6. Statement: 

All arteries are vein. 

No vein is a muscle. 

Conclusion: 

I. No muscle is an artery. 

II. Some arteries are muscle. 

A. If conclusion I follows 

B. If conclusion II follows 

C. Either conclusion I or conclusion II 

follows 

D. Neither conclusion I nor conclusion II 

follows 

E. Both the conclusions follow 

 

7. Statement: 

Only a few advertisements are editorials. 

No editorial is an opinion. 

Only a few opinions are news. 

Conclusion: 

At least some news is editorials. 

All advertisements can never be 

opinions. 

A. If conclusion I follows 

B. If conclusion II follows 

C. Either conclusion I or conclusion II 

follows 
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D. Neither conclusion I nor conclusion II 

follows 

E. Both the conclusions follow 

 

8. Direction: There are six people - A, B, 

C, D, E, F - each of them having different 

height. A is taller than B. A is not as tall 

as C. Only two people are taller than C. D 

is smaller than E but taller than A & B. E 

is taller than A but smaller than F. The 

one who is the second tallest is 180cm 

tall. 

 

Who among the following may probably 

be the height of F? 

A. 165 cm 

B. 185 cm 

C. 145 cm 

D. 170 cm 

E. 155 cm 

 

9. Direction: Study the following data 

carefully and answer the questions 

accordingly. 

 

Z $ 1 * L 7 5 % U E # 6 4 Q 8 & P 3 N @ 

D 9 ! F  

 

Z*1 L%5 U6# 4&8 ? 

A. P@N 

B. 8&Q 

C. PU9 

D. 4PQ 

E. D!9 

 

10. Direction: B is 15m to the east of A. 

S is 18m to the north of B. K is 20m to 

the west of S. C is 15m to the south of K. 

D is 25m to the east of C. M is 5m to the 

south of D. 

 

If J is 3m to the north of A, which point 

is closest to J (except A)? 

A. K 

B. M 

C. B 

D. C 

E. D  
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